
３学年数学 臨時休業中の教科書課題 ＜解答＞ 

ｐ１０ 

たしかめ① 

(1) ４a(a＋３b)           (2) (２ｘ－７ｙ)×(－５ｘ) 

 ＝ ４a２＋１２ab            ＝－１０ｘ２＋３５ｘｙ 

 

問１ 

(1) －b(５a－b)           (2) 
２

３
ｘ(３ｘ－６) 

 ＝ －５ab＋b２              ＝２ｘ２－４ｘ 

 

(3) ２a(a－b－c)           (4) (３ｘ＋２ｙ－１)×(－６ｘ) 

 ＝ ２a２－２ab－２ac          ＝－１８ｘ２－１２ｘｙ＋６ｘ 

 

ｐ１１ 

問２ 

(1) ２ｘ(ｘ－４)＋３ｘ(ｘ＋５)    

 ＝ ５ｘ２＋７ｘ 

 

(2) ４a(a－３)－２a(３a－６) 

 ＝ －２a２ 

 

(3) －３ｘ(５－ｘ）－４ｘ(１＋ｘ） 

 ＝ －ｘ２－１９ｘ 

 

たしかめ② 

(1) (２ｘ２ｙ－３ｘｙ２)÷ｙ        (2) (６ab－２ab２)÷
２

３
a 

 ＝２ｘ２－３ｘｙ              ＝９b－３b２ 

 

問３ 

(1) (８a２b＋２b)÷(－２b)   ＝－４a２－１ 

 

(2) (６a２b－９ab２) ÷３ab    ＝２a－３b 

 

(3)  (ｘ２ｙ＋ｘｙ２－ｘ)÷ｘ        ＝ｘｙ＋ｙ２－１ 

 

(4) (１２a２b－８ab)÷(－
４

５
ab) ＝－１５a＋１０ 


